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LC: Can I add ones using my knowledge of number bonds?
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Reasoning and Problem Solving
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I noticed ……………………………………………………………………………………..
………………………………………………………………………………………………………
I think that this will always happen /not always happen
I know this because………………………………………………………………….
……………………………………………………………………………………………………..
I like ………………………………’s method because………………………
[bookmark: _GoBack]…………………………………………………………………………………………………..
image1.png
o Complete the additions. o Complete the part-whole models.
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o Tick the additions that make 16

14+1| 15+1| 10+6| 1+16
3+13| 12+5| 11+5| 1+15
o Complete the additions.
+5=9 +2=9
8+ =9 6+ =9
e Complete the additions.
+5=19 +2=19
18 + =19 16 + =19
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Ron starts at 9 and adds on 5

Alex starts at 5 and adds on 9

Show their calculations on the number lines.
What do you notice? Does this always happen?

Which method do you like best? Why?





